24162

B.Tech. 4th Semester (CSE) (F-Scheme) Examination,

May-2018

DATABASE MANAGEMENT SYSTEMS

Paper-CSE-202-F

 Time allowed : 3 hours | [ Maximum marks : 100

Note: Attempt any five questions in all, selecting one

question from each Part. Question No. 1 is

compulsory.

1. (a)
(b)
(c)

d

(e)

®
(8)
(h)
()
()

What is a weak entity ? Give an example.

State the need of query optimization.

Write the characteristics that distinguish
the Database approach with the file based
approach.

What is authorization and authentication in
oracle ?

Write about the four types of Data warehouse
schemas.

What is data stripping ?

Why is B+ tree efficient than B tree.

Explain atomicity of a transaction.

What is Database and DBMS ?

Define Primary and Foreign Key.
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